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| G Numbers 500 to 60O

ount, and write.

a. Use the fo"owing chart to l‘\elp You count,
from 500 to 600. SGH the numbers out

aloud as you count. 500
90l S0L o0
oI8
922
936
oLl SL9
998
913
988 590
992 995 600

b. Write the missing numbers in the gr‘id above.
c. Write the IO numbers that come after 5OO.

500;

d. Write the next 8 numbers in the 2s pattern.

510; 512; : ; : ,

e. Write all the numbers in the 2s pattern from 548 to 570.

oL 8; : ; ; ; ; ; : : : ;910
f. Write the next 8 numbers in the Ss pattern.

a15; 520;
) I 2 38 &4 5 6 7 9 10
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| HOW manﬁ blOCkS can HOU count?

W/
@@@

How did You count, the blocks?
a )

\_ J

Com|o|ete the number lines.

I 1 1 1 1 1 1 1 1 1 1
3.0 9.3 SL.1 SL9
I 1 1 1 1 1 1 1 1 1 1
597| |598| (599
I I I I I I I I I I 1
597| |598| |599

m ComP|ete Write from smallest Write from bigsest
‘t,he tdble. to biggest to smallest

582, 586, 58L., 58I, 585

566, 506, 560, 316, 506

Write the fo"owing in words.

520
112 18 14 (5 16 17 18 [9 20 3

ENG MATHS G3'B2/9781431501472!indb- 3 014/06/20 7:53 AM‘
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More numbers 500 to 600

The teacher asks Peter This is what Adkar showed.
100 55 to show 537 with his What did he do wr‘ong?
( o00§30° L cards and blocks.
| o 2 0 3 0 L (0]
5 0 b O 70 80
q0
112314
s|o]7]8ld

Peter has the fo"owing
P|cce value cards and base

ten blocks.

SWr‘ite a number sentence and then the answer.

500 +10 +7=| 5817

4 | 2 8 &4 &5 6 7 © 49 [0
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ComP|ete the number line.

T3

]
550 58I 552 560
Write all the numbers smaller than 556.

Write all the numbers bigger‘ than 556.

“ Breqk UP Hour\ number\. There are ten c]igits.

01234567849

a. Build each number with your cards. We put them together to make numbers.
b. Write the value for each cligit.
£95 s A
Example: 517 500
508
| O
S9L
7
dL9
S 17
602
o7 | 500 + 10 + 7
N J

Write the number names.

22|
.86
369
419
L9l

112 18 14 (5 16 17 18 [9 20

_ Eng NUM'G3'B2'65-80.indd"5 2014/06/20 8:00 AM‘ —_—
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Count and write.

a. Use the fo"owing chart to help You count from 700
600 to 7100. SGH the numbers out aloud as 500

You count.

60l 60L 610
618

622

636
oLl 6.9
658

613

688 690
692 695 700

b. Write the missing numbers in the gr‘id above.
c. Write the IO numbers that come after 60O0.

600;
d. Write the next 8 numbers in the 2s pattern.

622; 621,; 626b;

e. Write all the numbers in 2s pattern from 6ll to 633.

oll; : : : : : : : : : ;633
f. Write the next 8 numbers in the Ss pattern.

6L.5; 650; 655;

b | 2 8 &4 ® 6 7 © 9 [0

‘ ENG MATHS'G3'B2/9781431501472/ndb" 6 014/06/20-7:53A



; How many blocks do You counto

- . - How did You count the b|ocks’>

Com|o|ete the number lines.

I I
6.0 6.3 oL]1 6.9

I I I
687| |688| |689

I I I
602( (60L| |606

omplele rite Trom smallest rite Trom biggest
Complet Write f I Write from bigg
t,l-\e tdble. to bigsest to smallest
b12,616,61L, 61,615
656, 605, 650, 615,605

Write the fo"owing in words.

63|
112 18 14 (5 16 17 18 [9 20

7

2014/06/20 7:53AM‘
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 Map work

ook at the Picture.
e What isit?
e For what do we use it?

Draw the fo"owing on the map:

| |ibr‘qr‘3, schoo|, c|inic, hosPitcL Po|ice station, shopping centre.
You can add some extra streets.

5 | 2 8 &4 ® 6 7 © 9 [0

- ‘ ENG MATHS'G3'B2'97814315014 72 indb""8 >014/06/207:53'A
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Use the map on the Previous page

to Sive Yyour friends directions from:

a. the clinic to the Po|ice station.

b. the school to the clinic.

c. the school to the shopping centre.

d. the shoPPing centre to the |ibr‘or‘3.

e. the |ibror‘3 to the school.

f. the hosPita| to the school.

112 18 14 (5 16 17 18 [9 20

G MATHS G3/B2'9781431501472.indb 9 2014/06/20 7:54 AM‘
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More numbers 600 to 700

jo0 2009

d =>o].001520
500 700
s 20 30 L O
so b0 ’° 82
q0
(23]t
s|o]7]8ld

Peter has the fo"owing

P|oce va|ue CGf‘dS Ghd bcse

ten blocks.

The teacher asks Peter
to show 658 with his
cards and blocks.

This is what Adkar showed.

What did he do wr‘ong?

R\I\/r‘ite a number sentence and then the answer.

.
— '

600 +30+7=

637

10 | 2

‘ Eng NUM G



omp ete the number line.
1 1 1 1 1

]
670 ol 672 680
Write all the numbers smaller than 675.

Write all the numbers bigger‘ than 675.

Fill in < or> or =

a. 670 607 b. 688 699
c. 600 +580 +5 655

Break up the number.

a. Build each number with your cards.

b. Write the value for each c]igit. Now do these: Break up your number.

686 (EBampe632 [ 5 0 ol
690
699 30
613 2
665 632
& 632| 600 + 30 + 2
N Y,
Write the number names.
672
693
607
697
660

112 18 14 (5 16 17 18 [9 20

ENGVMATHS G3/B2.9781431501472!indb 2014/06/20 7:54AM‘ —
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| G Numbers 550 to 750

Count and write.

a. Use the fo"owing chart to he|P you count from 750
650 to 150. SGH the numbers out aloud as

You count.

650

657
ool 669

683 685

103

L
123 1271

1L 1L.3 169 | 150

b. Write the missing numbers in the gr‘id above.
c. Write the IO numbers that come after 650.

650;
d. Write the next 8 numbers in the 2s pattern.

705; 707, 709; , :

e. Write all the numbers in 3s pattern from 719 to 749

119, ; : : : : ; : ; ;109
f. Write the next 8 numbers in the Ss pattern.

705; 710; T15;

s | 2 38 4 5 6 7 8 9 [0

‘ ENG MATHS'G3'B2'9781431501472!inclb" 12 2014/06/20" 7:54"A



How did You count, the blocks?
-

~

ComP|ete the number lines.

[ I I I I I I I I I 1
700 703 707 709
[ I I I I I I I I I 1
L6 LT |TL8
[ I I I I I I I I I 1
706 Il 716
Com |et,e Write from smallest Write from biggest
99
the table. to biggest to smallest
129,720,728, 721,725
659,705,607 701, 7106

Write the fo"owing in words.

706
112 18 14 (5 16 17 18 [9 20 13

ENG MATHS G3'B2 9781431501472\ indb 13 014/06/20 7:54 AM‘
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Numbers 700 to 750

fsf

The teacher asks Peter ..
100 55 to show 738 with his -I;DE |ingcthJa:u showe;l.
' zoo]zoolos cards and blocks. e CleleeE i)
1

500 500

| : 2 o 3 0 L (0]

50 b O 10 E

q0

2131 %

s|o17]8ld

Peter has the fo"owing
P|cce value cards and base
ten blocks.

SWrite a number sentence and then the answer.

3
[
[ ]
]

100 + LO+3= L3

_ ‘ Eng NUM G
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é "55 : omp ete the number line.
1

]
699| |700 70l 709
Write all the numbers smaller than 704,
Write all the numbers bigger‘ than 70L.

Fillin <, > or =
a. 150 1.9 b. 7132 123
c. 100+ L0 +9 L9

Br‘eak UP HOUF‘ number‘.

a. Build each number with your cards.

b. Write the value for each digit. Now do these: Break up your number.

4 )
750 Examp|e: L1 700
128 L O
103 -
130
147
169
147|700 + LO + 7

\_ J
Write the number names.

L
150
1.2
138
10L

112 18 14 (5 16 17 18 [9 20

CIVIATHS G5 B2I97814315014 72 ndb 15 2014/06/20 7:54AM‘ —



:‘0‘4 SGH if the sl'\ope
has a str‘aight or

a I"‘OUI’\CI edge.

& 2

How many shqpes can
You draw with str‘oight
edges

P Find Pictures
‘.33 4 Find shapes that have str*oight Find ShGPeS that have round
G0 ‘ eclges and paste them here. edges and paste them here.

- | 2 38 4 5 6 /7 8 9 [0

- ‘ ENG MATHS'G3"B2'97814315014 72 indb™16 2014/06/20 - 7:54"A .



Draw the shaPe in different Posit,ions.

triqn9|e

rectan9|e

squcr‘e

ComP|ete the table:
Name the shoPe Draw a slﬁcPe that is | Draw a shoPe that is
smaller bigger

different sizes in mqgazines or newspapers.

E | Find squares, tr‘ion9|es, r‘ectan3|es and circles of

Paste them here.

112 18 14 (5 16 17 18 [9 20

G MATHS G3/B2/9781431501472.indb" 17 2014/06/20 7:54 AM‘
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=) Addition and subtraction to SO0
ST What can Tbuy withR500?

Which of these
items can 1 bua for
exoct|3 R500?

R125

18 s 4 © 6 /7 © Y

- ‘ Eng NUM G3'B2'65°80!indd" 18 513/08/25. 503



1]
- ¢ 25 Solve the fo"owing:

125 + 83 = b6bL + 81 =

56k + 132 = 15 + 1T =

Solve the fo"owing:

Jc:mes l‘\GS co"ected 525 mar‘b|es.

If Sipho gave him another 205 marbles, James would have the same number
as Sipl‘\o.

a. How many marbles would theﬁ both have?
b. How many marbles did Sipho have to begin with?

a.

b.

112 18 14 (5 16 17 18 [9 20

G MATHS G3.B2 9781431501472 indb 19 014/06/20 7:54AM‘
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M@ree-additon and subtraction to 8O0

Number families

L+8=12 8+L=12

We can make families of numbers.

Each fami|3 has two bigger‘ 2-8=L 2-L=8

number‘s Gnd one smo"er‘ number‘.

Tdke [|., 8 GnCI |2 as dan edePle.
.5 Find the families.

4 3 Write /. number sentences for each group of numbers.
b 8 I

7 17 3L
25 L5 10
65 335 LOO
20 260 500

ook for links.

In this octivitﬂ we are going to identifg the Pdttern.

360 -50 = 50 + =360 +50 =360
910 - 480 = .80 + =570 + 480 =570
L30-3l= 3l + =130 + 3l =430
616-70 = 70 + =676 +70 =616
799-70I1 = 101 + =799 +701=799

> | 2z 8 &4 5 6 7 8 9 |0

- ‘ ENG MATHS'G3'B2'9781431501472 indb™20 2014/06/20"7:54"AM .



r Mkhize drives to visit, his mother who lives 352 km away.

He makes a stoP after 166 km. How much further must he travel?

Kumi does this:

Pumla wrote this:

352166 352 - 166
= 300 + 50 + 2
+, +30 +100 +52 o0 4 o b
ﬂﬁﬁm = 300 + LO +12
70 200 300 —100 + 60+ 6
= 200 + 1,0+ 12
30 + L + 100 + 52 00+ ot b
= |34 + 52 = 186 km = |00 + 80+ 6
= |86 km
Mbali does this: Peter does this:
352 -166 352 -166
166 + 100 = 266 + 3L — 300 + 52 |= 352-100-66
— 352 = 202-6b6
OO + 34 + 52 =134 + 52 =186 km = 252-52-1L
= 200 -IL
= |86 km
Veronica does this: Lebo thinks doubles and halves:
_ Half of 352is 76
ggg _ :gg =200 But I must on|3 take 166,
200 —1L =200-10—-L so I add back |O.
1901, 76 + 10 = 186 km
= |Sb km Talk about the different ways. Which way do you like best? Whﬁ?

u Solve the fo"owing on an extra Piece of paper:
Use any of the above methods.

1.6 —328

800 - 99

112 18 14 [

16

17 18 19 20
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dition and subtraction to SOO ngin

Build Your own number families.

A warm up c:ctivitﬂ.
~

Example: Maks I7
5+12=17 8+9=17
2+45=17 q+8=17
; 7-12=5 7-9=8
7 4
\_ =" Jlpg-s=0p 7-8=9 \_— J
\ \ ) \ ) lJ Checkl ComPar‘e!

Correctl!

FOI" each number‘ be|ow, ChOOSG 2 more to mcke a 'dellﬂ

Write four number sentences (two + and two —) for each number fami|3.

6-9=17

6-7=9

_|_
1+9=16

_|_
9+ 7=16

[}
15
50
500
190

7

22

[I

& 3

Find the missing

dou|o|es or hc1|ves.

2 3

7

N \/\_/

10

9

‘ ENG MATHS'G3'B2/9781431501472! indb" 22



If\ HOU kHOW HOUT‘ |’10|V€S and doub|es, HOU can sometimes use them

0 9 to subtract.

to add or subtract. Examples:

3L—-18=16 90 - 97 65 + 69 202 + 2.9
3L—1T=1] [90-95=95 |65 +65=130 |=2,2+ 2/2
[7-1=16 95-2 =93 130 + 4L =134 |+ 7

= [8L + 7

= L9l
Now tr‘g these:
3LO-176 1.5 + 148 900 - 52

u Studﬂ the ways.

256 children each 9et a Christmas Present. Half get dolls and half’ 3et cars.

How many Set cars?

WGH |

Way 2

256 = 200 + 50 + b6
— Half of 200 is |00
— Hadlf of 50 is 25
— Hdlf of 6is 3

|00 + 25 + 3 =128
— Half of 256 is 128
So 128 9et. cars.

— Half of 250 = 125

— Half of 6is 3

125 + 3 =128

— Half of 256 s 128,

So 128 get cars.

Solve the fo"owing on an extra Piece of paper:
Use any of the above methods.

128 children each 3et a toH at the local

restaurant.
Half of them get building blocks.
How many get buiHing blocks?

muffins.

b[..2 children each Set a muffin.
Half of them get chocolate chiP

How many get chocolate chiP muffins?

Il

12

IS 4 S

16 17 18

1€ 20

23

2014/06/20 7:54 AM‘
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Ndmber Patterns: tens to SOO

ook at, the numbers in the orange shaded blocks.
= L What, pattern do you see?
Count in tens from 710 to 80O0. Count backwards in tens from 800 to

What comes after 720 when 710. What comes before 760 when You
You count in tens? count, backwards?

701 | 702 | 703 {70L) 705 | 706 | 707 | 708 | 709 | 710
72| 73 (L) M5 | Te | 77 | 718 | 719|720
721 [ 722723 (72, 725 | 7126 | 727 | 728 | 729 | 730
731 | 732|733 (73L,) 735 | 736 | 737 | 738 | 739 | ILO
L0 | 742 | 743 (TLL) TL5 | TL6 | TLT | 748 | 749 [750
751 | 752 | 7153 (751, 755 | 756 | 757 | 758 | 759 | 160
761 | 762 | 7163 (T6L) 765 | T6b | 767 | 768 | 769 [ 710
70| 772 | 773 (TIL) 775 | 776 | 777 | 718 | 779 |80
781 | 782 | 783 (78L,)) 785 | 786 | 787 | 788 | 789 | 190
791 | 792 | 793 {794 795 | 796 | 797 | 798 | 799 |800

..r 1_.' ComP|ete the number sequences.

120; 730; 1LO; : ; 800; 790; 780;

Add or subtract ten. o. 167 +10 =171
! |. Addtentothe 9iven number. We did the first one for You.

. 762 c. 783 d.756 . TIL f 799
I 2 8 & B 6 7 9 10

E— ‘ ENG MATHS'G3B2/9781431501472!indb 24 2014/06/20" 754 AM [



-—r W 0. 767-10 = 757

¥

2. Subtr‘o‘.ct e om the given number. We did the first one for You. S

b. 7162 c. 183 d. 156 e. 1L f. 799
3. What happens when You add or subtract, ten to the numbers above?

Look at the red circles on the number board.
a. What do You notice about these circled numbers?

b. Extend the fo"owing number Seoluences:

10L.: 1L T2L.; : : 182 T12: 762;
715; 725: 735; : : 137 7L7T: 757,
799: 789 779;

Fill in the correct. number in each circle on these
number lines.

| | | | | |
I I I I I I
701 702 703 70L 705 706 707 708 709 C) L[ < T A [T TSy VA - B C)

e I i~ e e 8

| | | | | | |
I I I I I I I I I I I I I I I I I 1
A C) U3 ILL L5 L6 LT L8 L4 750 T8I C) 753 5L 755 156 151 758 159 7160

7LIC'>:::::::::C'>::::§::‘:::

& L I have a 3-di9it number. {_C%j

The first cligit is /1, the next digit is one more than seven, @ _.I

and the last digit is one less than seven.

@
_
A

Count, forward in tens from this number. What number do You Set?

112 18 14 (5 16 17 18 [9 20

ENG'MATHS'G3'B2'9781431501472!incb" 25 2014106/20 7:54 AM‘
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Roundins of f totens

All the numbers from £ backwards All the numbers from 5 upwards
will be rounded of f to O W||| be rounded of f to |O.
<
1 1 1 1 1 |

O | 2 5 b ] 8 9 10

I—et' us tCI”( @( at 3 on the number |ine>
? I I I I I I 1

I 2 3 L. S 6 1 8 9 [0

@t will 3 be if it is rounded ofTD
-
| | ’ | | | | | | |
3

I
O I 2 L 3 o} 7 8 9 [0

I.I

]

QW (-

@ouncled of f to the nearest ten will be zer‘9
DO the IO Wlth ( What will 6 be, rounded of f to the nearest |05

5.....?...’.

2] (3] [e][5]]e]|7]][8][a]]wo

C The answer will l:em
gﬁ Round of to the nearest |O.

|2 rounded of f is? |9 rounded of f is?
[ I I I I I I I I I ]
1O Il 12 13 |Z, 15 [e} |7 I8 19 20
953 rounded of f is? 58 rounded of f is?
[ I I I I I I I I I ]

50 al 52 93| [SL | [95| |56 S/ 58 59| |60

- | 2 38 4 b 6 /7 © 9 10

‘ ENG MATHS'G3'B2'9781431501472indb™26



Round of f to the nearest 10,
using the number lines to he|P You.

(Between which two tens are [..b'7>
L6 50 Ve

-—

LO| | Ll L2 | [L3| |LL| |LS| [LO| | L1 | |48 | L9]| |90

b, b3 (Between which two tens are b3'?>

1 1 1 1 1 | T | I I 1
S 37 CBetween which two tens are 37?)

1 1 1 1 1 | T T 1 I 1
d, qq CBetween which two tens are qq?)

Tom has RL800.
The Pack of cards he collects cost R5,00.
How many chks of cards can he buH for RL8OO?

112 18 14 (5 16 17 18 [9 20 7
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Mul-tplicatio

The ﬂngers on one

s

n: fives up to 15

What comes in fives? How many ﬂngers on: ¢ Match the sum with

E E the oluestion on the

* hand. 2 hands? § . left:
3 hands? i 9dxX5=1LD
L, hands? 71 XxX5=35
5 hands? 2X5=10
6 hands? L xX5=20
] hands? 3X5=15
8 hands? 5X5=25
9 hands? IO X 5 =50
|O hands? bx5=30
8X5=1L0
Shar‘ing Divide
2 groups of & 2x5=10 Share |O between 5 I0O+5=2
1 groups of & Share 35 between 5
12 groups of & Share 60 between 5
15 groups of & Share 75 between 5

Share |2 between 5

|2 + 5 = 2 remainder 2

Share 6/ between

Share 39 between 5

Share 713 between 5

28 [I 2 3 4

_ ‘ ENG MATHS'G3'B2'9781431501472.indb" 28
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!

" %!’ 1 omp ete the flow dicgr‘ams.

inPut outPut inPut output
I |6
?& = % ?§ mz %
. B -~ X >
15 20
inPut outPut inPut. outPut.
9) 55
s AN | NN
25 7 § 70 7 i:
30 15
“ ComP|ete the tables below
X I 2 3 L 5 b 7 8 q (0]
5
X | 12 13 I£, 15 6 17 18 19 20
5

How did You work out, the answers that should be written in the blue blocks?

Solve the fo"owing:

MH mother bought sweets Pdckets worth R70.
She Poid RS per chket.
How many Packets of sweets did she bug’?

o

1 12

13

4

15

16

7

&

1€ 20




oooooooooooooooooooooooooooooooooooooooo

o o e T
= Ndmber Patterns: fives

= ' 0800
5 '

- £ What, can You tell about the numbers in the

_" i orange shaded blocks?

Count in fives from 705 to 800. Count backwards in fives from 800 to
What comes after 720 when You 7105. What comes before 730 when
count in fives? you count backwards?

701 | 702 (703) 70L | 705 | 706 | 707 (708) 704 | 710
|72 (13) L | 75 | 76 | 77 ((718) 719 | 720
721 (722 (723) 72L | 725 | 726 | 727 {(728) 7249 | 130
731 | 732 (733) 73L | 735 | 736 | 737 (738) 739 | ILO
T | 762 (L3 TLt | 745 | 746 | TLT (TL8) 749 {750
751 | 752 (753) 75L. | 755 | 756 | 757 (758) 759 | 160
761 | 762 (763) 761 | 765 | T6b | 767 (168) 769 | TI0
71 | 772 (773) 714 | 775 | 776 | 777 (778) 779 | 780
781 | 782 (783) 78L | 785 | 786 | 787 (788) 789 | 7190
791 | 792 (793) 794 | 795 | 796 | 797 (798) 799 |800

-

V- ComP|ete the number sequences.
125; 730; 135; ; ; 800; 795; 790;

) Add or subtract five. o 160 +5=1765
__-_“ . Add five to the given number. We did the first one for You.

o 2

725 c. 780 d.755 e 715 £ 790
I 2 38 & B 6 7 ST 10)
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a. 7b5 9 =160
==

2.Subtract ﬂve from the glven number. We did the first one for you.

b. 760 c. 185 d. 750 e. 115 f. 790
3. What I\aPPens when You add or subtract five from the numbers above?

9‘7}'

Look at, the red circles on the number board.
a. What do You notice about, these circles?

b. Extend the foIIowing number sequences:

103; 7108; 113; ; ; 122,727,132,
153; 158; 163; ; : T14;719; 724,
101;706; T11; ;

Fill in the correct. number in each circle on these
numIoer lines.

a.
701 702 703 7oz, ©70b 707 708 709 C) o2 3 7IL C) 16 T 78 79 C)
I I I
72. O O O e

b. 7z,| C) 743 7LL 745 7Lb C) 748 713 750 75l C) 753 751, 755 756 O 758 759 760
7b| O I I I O I I C) I I I I I I

%ﬂ I have a 3-<:Iigit number. fl@%}

The first, cIigit is 1, the next cIigit, is one more than seven,
and the last cIigit is five less than seven.

Now count, forward in fives from this number. What, number do You get?

112 18 14 (5 16 17 18 [9 20
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Daﬂ time and night. time

Cc1|oe TOWh

The table below shows when the sun rises and
sets at different times of the Year in CaPe
Town. Read the times in the table and then fill

in the rest of the table before onswer‘ing the

questions below. &

Cape Town Sunrise | Sunset | Length of day Length of night
March 23 6:53 am | 6:33 pm
June 2| 75lam | 5l pr
September 19 | 6:41am | E6:L] pm

December 22 | 5:32 am | 7:58 pm

a. In which months are the claﬂ and the night the same |en3th?
b. Which month has the |on3est dqgs?
c. Which month has the shortest dags’?

d. Find the difference in hours and minutes between the |ongest d03 and the
shortest c|03.

e. Find the |en3th of d03 and night for each date in the table above.

. | 2 3 4 B 6 /7 © 9 I0

S ‘ ENG MATHS'G3'B2'9781431501472!Indb" 32 014/06/20 7:54



- In Polokwane
'

This table shows when the sun rises and
sets at dif ferent times of the year in
Polokwane. Read the times in the table
and then fill in the rest of the table _y
> v

before onswer‘ing the questions below.

Polokwane Sunrise | Sunset | Length of day Length of night
March 25 6:08 am | 6:08 pm
June 2l 6:Lily am | 5:2L, pm
September 7 | 5:57 am | 5:57 pm
December 22 | 5:13am | 6:50 pm

a. In which months are the cIcH and the night the same |en9th?

b. In which of these months is the |ength of daﬂ the same in Cape Town and
Polokwane?

c. In which months are theﬁ different?

d. Find the difference in hours and minutes between the |on3est, c|03 and the
shortest dcg.

e. Find the |en3th of dqg and night for each date in the table above.

Ask someone to he|P Yyou to find the sunrise and sunset, times in your area.

White them down for one week. Are the dcﬂs 9ettin3 |on9er‘ or shorter?

1z 18 1« 16 16 17 18 19 20
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: What comesintwos? 3 : How many shoesare  : ¢ Matchthe sumwiththe @
: 3 E cluestion on the left:

One Pair of shoes.

IO gr‘oups O'F 2

ComP|ete the table.

| Pcir of shoes?

2 Pair‘s of shoes?
3 Pcir‘s of shoes?
[.. Pcir‘s of shoes?
o) Pcir‘s of shoes?
b Pcir‘s of shoes?
] Pcir‘s of shoes?
8 Pcir‘s of shoes?
g Pcir‘s of shoes?

IO Pcir‘s of shoes?

IO x2=20

| X2=2

o)
X
N

~ oo

N~ O 0~
o ©

OO UWMEN
XX XXX XXX
NNNNNDNDNDN
N n o n i n nn

o N

Shqr‘ing

Divide

Share 20 between 2

20+2=10

|5 9T‘OUPS O'F 2

Share 30 between 2

20 SPOUPS O‘F 2

Share LO between 2

35 SF‘OUPS O'F 2

Share 710 between 2

Shcr‘ing

m ComP|ete the table.

Share 2| between 2

2| + 2 =10 remainder |

Share 33 between 2

Share 67 between 2

Share 75 between 2

34 | 2

‘ ENG MATHS'G3'B2/9781431501472!indb 34
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inPut

inPut

outPut

i :
(%ﬂ omp ete the flow cliagr‘qms.

inPut

22

3l

’

30

outPut

35

inPut

.

\ ru|e

AN

outPut

AN

X 12 LS 16 T8 91011 12]13|IL15]16 1718|1920
2
X 2112223 2,125 26|27 28|29 30| 3l 32|33 3|35 36|37
2

Solve the fo"owing:

I bought 36 |o||iPoPs for R2.

I Poid with a RS5O, R20 and a RS coin.
What was my chqnge?

Il

12

IS 4

15

16

17 &

1€ 20

35
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Nurﬁber Pat.terns: twos P to 800

Look at the numbers in the orange shaded blocks.

: What Patter‘n do You see?
Count in twos from 700 to 8OO. Count backwards in fives from 800 to
What comes after 700 when You 710. What comes before 750 when You
count in twos? count backwards?

701} 702 (703 T0L {705 706 (707)| 708 (709
(T 712 (713) L (715 6 {717 ) 718 (719
(721|722 (723 724, 726 (727) 728

731|732 (733) 73L (735)| 736 (737 738
CILV) L2 (TL3) Tl L6 (L7 748
(751 752 (753 )| 75L 756 (757) 758

761 762 (763) T6L 766 (767 )| 168

71| 772 (773)] TIL 716 (T77) 718
(781 782 (783 )| 78L 786 (787) 788
(791} 792 (793)| 7L (795) 796 (797 798

a

53

7~

£~
&)

o)
&)

S\ =\
O
O

~
On

00
O

800; 798; 7196;
Add or subtract two. a. J6L. +2 =766
1 |. Add two tothe given number. We did the first one for You.
c. 183 d. 756 e. 1L f. 799

2 8 & B 6 7 8 9 10
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X
"/}P * X T

B
0. 76L—-2=762 &

. Subtract two from the given number.
9

We have done the first one for You.

b. 762 c. 183 d. 756 e. 1L, f. 799
3. What haPPens when You add or subtract two to or from the numbers above?

| ook at the blue circles on the number board.
a. What do You notice about these circles?

b. Extend the fo”owing number

Sequences: 7qq, 7 q7, 7 q 5,
7101, 703;705; ; ; 183; 185; 187,
125;727;729; ; ; 779;78lI;783;

Fill in the correct, number in each circle on these
number lines.

a .5 Cl)nga O 7(%5CI)7C=’7 ©7éq O 7=” O 7o O 7 O m O | O
m@@@@@@@@@@

b. —
7LI O 743 7LL 745 O 747 7L8 713 50 751 O 753 754 155 O 757 758 759 760
i | — O+ O i | i |
OO O+—O+O+O+HOH

%’? I have a 3—c|igit number. f;gép
= "Q:i

A
The first cligit is 1, the next, digit is two more than seven,
and the last digit is four less than seven.

Now count forward bg two from this number. What, number do You get?

112 18 14 (5 16 17 18 [9 20

2014/06/20 7:54 AM ‘
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\ Mu|t|P||cqt|on 2s and Os up to 15

How fast, can You answer the fo”owing?

Ix2= | 2x6=_ | 10x2= | Tx2=
8x2= | dx2=_ | 8xb6= | Lxd5=
O9xd6= | bxd= | 3x2= | Ixd=
bx2= | 9%x6=_ | 3xb6= | Lx2=
Ox5= | dx2= Ix6= | 9%x5=

Look at what, my friend did. _

Discuss it.
( My friend showed L. x 2 as follows: )

Skip counting Eclucﬂ groups Ejﬁ;?::d Ar‘r‘aﬁs Facts
~Y XX 2x4Y=%
XX Hx 2 =298
2,4, 6,8 000@® | 2t2t2+2 x g =1
XX 8+-2 =4

Now do the same with [._ x 5 =20.

Repeoted
addition

Skip counting Ecluq| groups Ar‘r‘qﬁs Facts

- [ 2 383 4 B 6 7 8 9 10
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£y Mu|ti|o|3 the fo”owing:

2L x 3 a.13x 3 b. 18 x 3

=20+ L) x 3
=20 x3) + (L x 3)
=60 + 12

=72

c.12x93 d 2l x3 e. |l x 3

f25x3 g12x3 h 15 x 5

bt

Solve the fo"owing:

I bought |, sweets for R3 each.
MS friend bought |2 sweets for RS each.

How much did we Py o|together‘ for the sweets?

1z 18 1« 16 16 17 18 19 20
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: What comes in : How many wheels are on : Motch the sum with :
: threes? : | tr|030|e7 : the questlon on the left: :
The wheels of a 2 tmcac|es’7 qQx3=2]
St s 3tmcgc|es? \ 1x3=2

L. tric30|es? : § 2X3=6

9) tri03c|es? : : L X3=12

6 tric3c|es? : . 3 Xx3=9

7 tr‘ic30|es? : 5| § g i !35

8 tr‘icgc|es? 10 % 3 B 30

Juieydes? i g 3-8
tricycles: 8 x3=2L

Com|o|ete the table.

Shar‘ing Divide
Il groups of 3 Il x 3=33 Share 33 between 3 33+-3=Il
15 groups of 3 Share L5 between 3
49 groups of 3 Share 60 between 3
12 groups of 3 Share 36 between 3
m ComP|ete the table.

Shar‘lng Divide

Share 37 between 3 37 + 3 =12 remainder |

Share 7[.. between 3

Share 49 between 3

Share 68 between 3

M | 2 383 4 B 6 7 8 9 10
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dlete the Tlow cliqgr‘oms.

inPut outPut inlout

II\

15

23
25
input. output. inPut

N\

\

AN

output

N
N
<

AN

X 213 L |5 6 7T 8 9|10 1|12 183|115
L | 3 6

X 6|17 1819 202 |22 23 |2, 25 26|27 28|29 |30
L

Solve the fo"owing:

How much did theﬂ Py q|together‘?

The entrH fee was R3 for each child and 23 children entered the Pcrk.

112 18 14 [ 16 17 8

”q 2@ 41

2014/06/20 7:54AM‘
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MUIt.IPIICQt.IOh 2s, 3s and /s up to 75

' How fast, can You answer the fo”owmg

85

.,:r.'

s

Ix2= | &dxL= | &x2= | 2x2=
6x3= = | Lx2= | 2xL= | 1x3=
8xL= | 2x3= | ITx2= | 9xL=
3x2= | LxL=  |10x3= Ix3=
3x3= | 9%x2= = | bxL= | 10x3=

Look at what, my friend did.
Discuss it. - C[ started to show 5 X 2 as fo"ows:)
SkIP count.ing Ec[uo| groups 5:5;?::d Ar‘r‘qﬁs Facts
) __ Frows a : - f -
2,4, _ _ _ P 2+ _ _ _ _ of 2 _‘:“
- = - - XX “IToT

Now do the same with 8 x 3 = 2/,.

Skip counting Equq| groups 535;?::d Arr‘aﬁs Facts
bx [ =21

. _ Repeat,ed
Sk|P countlng Ec[uo| groups Ar‘r‘qgs Facts

addition

M | 2 38 4 B o6 7 8 9 10
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“1? Divide and test your answer.

63+ 3 2l %3
=0+3)+3 =20+ x3
=(60+3)+(3+3) =(20x3)+(1x3
=20 + | =60 + 3

=9 =63

a. [8+5

b. 6L + 5

Solve the fo"owing:

MH friends and I have R63 q|together‘.

How much will each of us 3et?

We want to share it equo"g between the three of us.

iz s 14 1S

16 17 [

1€ 20




A
4

Y What Patter‘n do You see?

Count in threes from 703 to 799.
What comes after 745 when You

count in threes?

INGmb

I

' ,i";‘:‘?

er Patterns: threes to 8O0

oooooooooooooooooooooooooooooooooooooooo

f& Look at, the numbers in the orange shaded blocks.

Count backwards in fives from 799 to
90O3. What comes before 766 when

SOU count bGCI(WGI"CJS?

10l

702

103 [ /0L

105

106

7077708

709

710

7l

712

N
(713 7L,

N

115

116

/

py
7 |18

D

7120

12|

(722)

123 | 2L

125

/)

126

727 (728)

729

731

132

133 ((73L.

/

135

136

@

7) 738

139

130
710

1L

142

(1L3) LL

165

1.6

N

L7 [IL8

@

150

79l

(752)

153 | 19L

755)

156

757 (758)

759

160

162

163

165

166

167

) 768

769

770

7112

(773) 7L

715

w

177 | TI8

(719

180

782

183 | 184

186

(788)

181 {788)

789

790

192

793

795

796

0

798

799

500

799; 796; 793;

3 : Add or subtract three.
1 |. Add three tothe given number. We did the first one for you.

a. 166 + 3 =769

b. 766

c. 183

d. 756

e. 113

f. 790

I]
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.
0. Tbb—3 =763

2.Subtract, three from the 3iven number.

We have done the first one for You.

b. 763 c. 189 d. 756 e. 113 f. 799
3. What hoppens when You add or subtract three to or from the numbers above?

Look at the blue circles on the number board.
a. What do You notice about these circles?

b. Extend the fo”owing number sequences: 119:7176; T13:
10L.; 707, T10; : : 182;185; 188;
113, 716; T19; : ; 179;782; 185;

Fill in the correct, number in each circle on these
number lines.

o ———F+—+—+—+—+—+—+—F+—+—+—+—+——————+—
701 702 O 70L 705 O 707 708 O 70 7 O 713 7L O 76 717 O 79 720
I
m O O OO O O

b. 7l=p| CI> 7[{3 7114 CI> 7l=pb 7Z=J CI> 7l=pq 75=>O CI> 7=52 7é3 CI> 7=55 7=56 CI> 7=58 7é)q CI>
7&@ | | O | | O | | O | | O | | O | | O '

&
%’? I have a 3—digit number: f@&p
oS

The first cligit is 1, the next, digit is two more than seven,
and the last digit is seven less than seven.

Now count, forward in threes from this number. What number do You get?

112 18 14 (5 16 17 18 [9 20

2014/06/20 7:54 AM ‘
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Mu|tlp||cqt|on fours up to 15

+ What comes in fours? ¢ : ; How many wheels are on : Motch the sum with

E The wheels of a car. ’ , the cluestlon on the left: ‘
. ‘. | car? :; 99X /[ =36 :
2 cars? \ 1 X[ =28
3 cars? 2 X [ = 8

L, cars? EE L XL =

5 cars? EE 3><[._=

b cars? EE 5 X[ =20
] cars? EE | X [ =1L

8 cars? EE IO X L =L0O
9 cars? EE b X[ =2
|O cars? . 8 X [, =32

Com|o|ete the table.

Shar‘ing Divide
12 groups of L 12 x [, = L8 Share .8 between £, L8+ =
lo) groups of [.. Share b[.. between L
18 groups of L Share 72 between L
15 groups of L Share 60 between L
m ComP|ete the table.

Shqmng Divide

Share 35 between L 35 + L. = 8 remainder 3

Share 55 between £,

Share 70 between L.

Share 75 between £,

m | 2 3 4 B 6 7 8 9 10
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omplete the Tlow diagr‘ams.

L inPut outlout inPut

9

IO\

inPut. output. inPut

LO

N\

outPut

L — 56 =& -
60 7 bL. 7 §
12 68
“ ComP|ete the tables below
X | | 2 3 L 5 | b 7 8 q |10 |1 2 |13 | 1L | 15
L
X 6|17 1819 20| 20 1 2223 |2, 25 26|27 |28 29| 30
L

How did You work out. the answers where the blocks are coloured blue?

Solve the fo"owing:

T have R75.

How many small Par‘tﬂ gifts at RL each can I bug?

1112 18 14 [5

16 (7

&

1€ 20

41
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count in fours?

A |
Patterns: fours up to SO0

Look at. the numbers in the orange shaded blocks.
What, Pattern do You see?

Count in fours from 70L to 80O0.
What comes after 736 when You

oooooooooooooooooooo

oooooooooooooooooooo

Count backwards in fours from 800 to
10L,.. What, comes before 776 when You

count, backwards?

701 | 702 (703 10L

105

106

/
(707 708 | 709

710

/
(0 T2 | 73 | T

(715 ) 716

=
—

718

2

7120

721 [ 722 (723} 724

126

(3
\~

128

~J
N
-0

130

/)
"/

132 | 7133 | 73L

)

136

~J
w
~

138

3

1LO

-
=

742 (713 Thle

1.6

1.8

/=)
\~

150

/1)
"~/

192 | 753 | T5L.

156

~
O
~

158

160

—J
o)

/
762 (763)| 1oL

166

@

168

710

112 | 713 | TIL

716

-
~

718

180

e
2\

/
782 (783) 78L

186

@D\.

188

790

192 | 793 | 19L

HEISEEE

SEEEISEGER

796

\9] 0 \2)| L \2)-a\2

S8R

< |z
~d

798

800

(79D

v el

ComP|ete the number sequences.

10L; 108; 712;

121L.;7128; 132,

: Add or subtract, four
1 |. Add four to the given number. We have done the first one for You.

a. 164 + L, =768

b. 16L

c. 188

d. 75L

e. 118

f. T9L

[S2

3

4

5

6 7

9

10
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a. 764 — L =760 K

2. Subtract, four from the given number.

We have done the first one for You.

b. 768 c. 18L d. 752 e. 1L f. 798
3. What hoPPens when You add or subtract, four to or from the numbers above?

Look at the blue circles on the number board.
a. What do You notice about these circles?

b. Extend the fo”owing number sequences: 1M1 715; 719;
103; 707 17lI; ; ; 183; 719; T15;
T13; 717, 78I; ; ; 799; 795; 79I;

Fill in the correct, number in each circle on these
number lines.

d.
701 ©703 7OL 705 ©7o7 708 7oq© 72 71 O 15 76 77 Q 79 720
i i
o) o) o) Fo) o)

b. 7AI O 743 m 745 Q 71,7 748 7A°I Q 5 752 753 Q 155 756 7157 Q 759 760
i i
TSR @) O O O

%}' I have a 3-c|i8it number.
Ve i

The first cligit is 1, the next cligit is one more than seven,
and the last cligit is three less than seven.

Now count, forward in fours from this number. What, number do You get?

112 18 14 (5 16 17 18 [9 20 «

Eng NUM'G3'B2'81-96.indd" 49 2014/06/23 10:27 AM‘ —



}f;.lﬂ 2, " |
25 3s, L.s and Os up to 75

‘ How fast, can You answer the fo"owmg

Ix2—_ 5x3= | Lx2= [ 10x2=
Lx3= | 3x2= | 2x2= | 3x3=_
bxL= | Lx3= | 5x3= | 9xL=
bxd= = | 8x3= | 9xL= | 8x5=
Ix3= | 8x46=_ | 2x%=_ | 1xb5=

Colour the blocks where the sum glves You
a remainder.

2 +2=6 I3+3=Lreml [I5 +5=  |I8 +5=
20+L=  |[283+L=  |Ib +3=  |I8 +3=
25+2= |2,+2=  |30+2=  |[29+2=
9 +3=  |I7 +3= |3 +5=  |30+5=
55+5=  [52+5= |51 +3=  |6O0+3=

How do You know that a number can be divided bH:

e 37 If You add the digits of a number (e.g. 712 has the c]igits I 2 = q) and

You can divide that, new number IOH 3 (e.g. 9 is divisible b\d 3].
o« 27
e 57

N [ 2 8 &4 B 6 7 8 9 10

_ ‘ Eng NUM G3'B2'81-96!indd50 014/06/23 " 9:30'A _



2l x 3+ 2

=0 +5)=+3 =(20+N)x3+2
=b0+3)+(5+3 =(20x3) +(1x3) +2
=20+|rem2 =bO+3+2
=2|rem2 =b5

a.[..q+5

b. 65+ 5

Solve the fo"owing:

)

YOU need to SO and CJO some r‘eseqr‘ch.

How do You know if a number is divisible bH L?

iz s 14 1S

16 17 [

1€ 20



| Popr‘ties of 3-D objects

| ook at the Pictur‘es.

C3|inc|er's

+ Look at the Pictures and comP|ete the sentences
and o[uestions.

a. The ball b. Whg doesn't

the ball slide?

c. The cghnder‘ d. Can the c3|inc|er'

also slide?

3 4 5 b6 7 & 9 10
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Name the olgjects used in each Plcture

You on|3 have to name each olz]ect once. Saﬂ if the ol?Ject can roll or shde :
ﬂ iﬂ <

u 503 if the 3-D obJects have flat, or curved surfaces.

. e

Draw the fo"owing:

A box bo|ancin9 on A badll bc|qncing on A CH|inder‘ bcﬂancing on

a cghnder‘.

112 18 14 (5 16 17 18 [9 20

a c3|inder*. a box.
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L Eraction strip kits

Materials: & str‘iPs of paper in dif ferent

colours, Scissors, Penci|s/Cr‘030ns

30 Make the kit
& Cut-out 5

On one striP write the words: "One Whole”

Take another striP and cor‘ef‘u"&j fold it in half:
Then open it up. How many equq| Ports do You have?

Write %on each half and cut q|on9 the folds.

Take a third strilo and fold it in half, then fold it in

half ogoin. OPen it. How many eo[uc1| qu'ts do you
have? \Is/r‘itel—F on each fourth, and then cut q|on9 the folds.

Now trﬁ and make two more striPs, one showing fifths
and the other eighths.

I >

. Use the fraction kit Pieces to he||o

you answer these cluestions.

How many fifths equc| one whole? How many eighths equc| one half?

Fractions on a number line.

This striP shows one whole. This circle shows one whole. ‘

Divide the striP into thirds. Divide the circle into thirds.

Colour one third.

Colour one third.

m | 2 383 4 B o6 7 8 9 10
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.‘ m

One half Three olucr‘ter*s Two thirds

Four fifths One half Five eigl'\ths

N

Draw the fo"owing:

Three c[uor‘ter‘s using a One half using acircle. Two thirds using a

square. triang|e.
Four fifths using acircle. | Four eighths using a Two thirds using a
square. rectqng|e.

% Pr‘e|oc|r‘e your kit

* Cut out, each of the b circles in Cut-out, 6.

* Cut five of the circles into Pieces q|on9 the lines.

* | abel each Piece:

o On one side write the fraction of the whole hour.
o On the other side write the number of minutes in that fraction.

112 18 14 (5 16 17 18 [9 20

2014/06/20 7:55AM‘



Sb

:a 4 3 Write Yes or No

* A half is half of one whole
* A half of a half is one cluqrter'

* A oluarter is half of a half
* A half and two c[uqr‘ters make

a whole

* A half and a clucr‘ter‘ make

three cluqr‘ters

Share a |oie

Sipho (=

& W] o U
)
ﬁ"""u'—u-u
Draw Sipho's share.
. ,/"--:-"r:::,‘“
of what is left.

Andile

Draw SiPh’o, Gugu and Andiles share.

2 8 4

Sipho Gugu Andile and Lisa share one Pie. |

- ¥ .
a.( Iam hungr‘gl b qu I T'll have
I want half! a uorter .---p-}'_.b‘-}
fj e 0 5\1 fj d

5

DI"GW SIP"\O Gnd GUSUS shar‘es

How much of the EH'
ie is left, for me? fj " r—.& 5§\’
n O~
Q\ 2D D

Draw all thelr‘ shares of the Pie.

6 7 8 9 [0
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JAVAN

i = e shapes amongst the children.
. AT Use a different colour or Pqttern for each child.
< We have done the first one for You.

e el

JAVAN

Four friends share |iquor‘ice sticks
equo"H.
How much will each one get?

What, is the cluestion?

Six friends share 9 |icluor‘ice sticks
equq"H.
How much will each one Set.?

What is the c[uestion'?

What, are the numbers?

What, are the numbers?

Draw a Picture.

Draw a Picture.

1112 18 14 [5

16 17 18

1€ 20
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Her‘e are |2

counters

L&

P e T
- f i-' =
l G

We are two friends. We have
on|3 one container divided

exoct|3 in half.
We say this is We say this is
ELah“. ELah‘”.

one one

T

Shqung |eqd|n9 to fractlons

We share the twelve counters

between the two of us.
I got six
counters.

I got six
counters.

Make a c|r*awmg of the fo”owmg and answer
the questlon

Nine balls divided between three friends.

000000000

Twelve balls divided between four
friends. Three of the friends are 5033.

* How many balls will each

gir| get'?

* What is the fraction each 3ir‘|

will 3et?

000000000000

* How many balls will each

3ir‘| Set?

* What is the fraction each

bOH will get?

What, fraction will Mandla get?
What, fraction will Lisa get,?

M name is

3l 1

* How many balls will Mandla and Lisa get?

00000000
00000000

* How many balls will Mandla and
Lisa get?

FEUD oy

2 8 4
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33 J aring sweels.

Some friends share some sweets. TheH each get 2l “‘\am of a Packet. .:

|
[ ] :J-.
|
[ |

a. How many Packets do theH need to share between:
L, friends? b friends? 9 friends?

IO. HOW manH friends can shcr‘e:

L. Packets? IO Packets? 3 2L Packets?

The mothers and Srannies make dcncing skirts.

For | skirt theﬁ need 2% metres (m) of fabric.
The fabric costs R6 a metre.

a. How many skirts can theH make from?

dm O m
20 m 25 m

b. How much fabric do theg need to make?
2 skirts 3 skirts [, skirts

c. How much does the fabric cost, to make?
| skirt 2 skirts 3 skirts

d. How many skirts can thea make for:
R.L50 R825 RISO

112 18 14 (5 16 17 18 [9 20
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NiNeYeistance around

The word Perimeter means the |en9ti'\ or distance around an otzject.

A farmer has a trianguiar P|ot of Sround.

12 m 12 m We can find the Perimeter of the Piot 53 odding

up the |en9tiws of the sides.
bm Perimeter = 12m + 12m+6m=30m

Find these Perimeters.
Sm IO m
5m . 5m 20 m 12 m
Sm 12 m

Veronica's garden. < Sm >—1/ m—
9

Veronica draws a diqgrom of the gqrden \ E a Hlowers t Vegetaioies

she wants to Piqnt.

-

a. What is the Perimeter of the area where
she Piqnts her herbs?

b. Which two sections have the same
Perimeter? What is their Perimeter?

—> <« >e
3 3
| T
c | 3
= &

-«
1

and have a Perimeter of m.
c. She needs a fence around the whole garcien. The fencing costs RSO per meter.

How much will the fence cost?

N | 2 383 4 B 6 7 8 9 10
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P|an HOUP own gar‘den.

Use gr‘id paper from Cut-out 7 to P|an your own gqr‘den. Show all the

measurements and the crops you would like to grow.

“ Meosur‘ing circles.
Work with a partner. k

Materials: 1O circular objects of different sizes like a
P|cte, a 9|qss, st,ickﬂ the ,abottle cap, str‘ing and

scissors

|. Choose one of the round ol?jects to measure with

the str‘ing.

2.Cut a Piece of string the exact |en3t|'1 thct‘just fits
around the ol?ject.

3. Now take the same str‘ing and stretch it to reach across

@

the circle. Count, how many times it fits across.
L..Do the same with other circular olzjects.
5. Write what, You notice.

The distance around a circle is called the
circumference.

The distance across a circle is called the
diameter.

1z 18 1« 16 16 17 18 19 20 b1
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E Materials:

§ P|c13 these games with a Partner‘.

RIO

T - L)
o
P i
S TEE .
ﬁ“"
i - -

neB

; Moneﬂ Board (Cut—out 8), paper and Penci|, two dice,
E P|°3 money [ﬂ*om Cut-out, q): RIOO and RIO notes; RI, |Oc¢ and lc coins.

; Place the Moneﬁ Board on the table.
§ The board has 5 sections which are, from left to r‘ight, RIOO,RIO,RI, IO

cents, and | cent.. For this game we are using the first 3 columns.

3 Add up to |00 Rand.

the winner.

RIO

RIO

G&

RIO

RIO

RI

RIO

= | RIO

RI

RI RIO

RIO

|. Each P|03er‘ takes a turn to roll the dice. Add the two numbers together*.
2. Take that number of Rl coins and P|cce them in the Rl section of Your board.
3. As soon as you have ten Rl coins You must trade them for a RIO note.

ICCO

L.. The first one to collect, ten RIO notes and trade them for a RIOO note is

RIOO

5. Penalties: If a P|03er finishes the turn and forgets to trade ten Rl coins for

one RIO note, and the other P|c13er‘ catches the mistake, the Penc|t3 is RI.
If a P|03er‘ forgets to trade ten RIO notes for one RIOO note, he or she must,

[I

Py RIO to the other P|c13er‘.

2 3

4

5 6 7 8

ST 10
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/NGB %
- 4 Subtract from RIOO to RO.
[ RI0Os | RIOs | Ris

P|c13 the same game, excelot start
with ten RIO notes, and subtract
the sum of the numbers on the
dice. The P|c|3er‘ who gets to RO

first is the winner.

Addition and Subtraction to Rl OOO.

Add the sum of the dice on each turn, and take that number of RIO notes.

The first one to reach Rl OOO is the winner. Or, start with Rl OO0, and on
each turn subtract. The first, P|c13er‘ to reach RO wins.

u Aclcllng up toRI.

P|a the same as the first game, excePt this time when You roll the dice and find

the sum, take the sum of the dice in | cent, coins. When You have ten lc coins,
chonge them for a |Oc coin. The first. one who can chqnge ten |Oc coins for a RI

coin is the winner

Subtract cents.

Start with R, and subtract on each |:>|03. The first to Set, to O cents is

the winner.

112 18 14 (5 16 17 18 [9 20
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Hats for sale.
: The shop sells hats at O different, Prices.

Let's go shoPPingl

Totals
R20 | R20 | R20 | R20 | R20 | R20 | RI20
R25 | R25 | R25 | R25 | R25 | R25
RS5O | R50O | R6O | RBO | RSO | R50O
R75 | R15 | R15 | R15 | R15 | R15
RIOO | RIOO | RIOO | RIOO | RIOO | RIOO
a. Find the value of the hats in each row.
b. MaZondo bugs | of each kind of hat.
How much does she Py o|together'? Checkl
c. Buti sPends R[..5O q|together*. He |ou33 | hat, for RIOO. CC:Z:ZZT'
What other hats does he louH? Show 2 Possib|e answers.
Answer | Answer 2

2 3

4

5

6 7

9

10




Musa uses this r‘ecipe to make a sponge cake.

SPonse cake reciPe
For the cake: O g9 of se|f—r‘oising flour; 3 eqgs; 50 g9 of icing sugar
For the ﬁ"ing: 1O ml cream

a. Work out, how much Musa needs, to bake up to 6 cakes.

Cake FIOUI‘ ESSS Icins SUSGI" Crecm
LOg 3 504 ILO ml

||~ WiIN|—

b. Tick (v) the correct answer. ,-"I I D
| litre of cream can fill about: |O cakes; 7 cakes: 8 cakes #t] [
Checkl | 1 1
Comparel ol
Cor‘fect,!, \"'"

Quick sums

IOXT7= 10X71O= b&XT= 5&5X]JO0O= TJOX2=
12X L= 12X8= bXlb= 3X9= 90 X 9=
95X 3= [19Xb= IOX L= 8XL= I8 X L =

112 18 14 (5 16 17 18 [9 20
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e More about data
; At the Po|ice station.
1 Five Po|icemen do differentjobs. Where are t|'1e3 now?

At the desk On Pqtro| In court

Serufe x
Maria x

Sam x

Amos X

Dudu x

Write the names of who is: At the desk?
) On Pc:tror?
In court?

o
Tree doﬁ Ef/m

Five schools comPete to see who can P|qnt the most trees on Arbor Daﬂ.

“'.'?;' 1=10 trees

Klipspruit F ¥ 9§99
Mthoryeri e o i G o

Sonskyn YF Y Y9595 9
Thuthong ‘i“ ‘i“ ‘i"’ ‘f’

Mosiba YTYTSTNTSNTN

How many trees does each school Io|c1nt?

K|iPsPruit Mthor]jeni Sonskﬂn Thuthong Mosiba

How many trees did the schools P|c1nt, a|together‘?

W [ 2 3 4 B 6 7 8 9 10
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y. The Grade 3 class do a survey in their vi||qge.
Theﬁ want to find out about the kinds of roofs on dif ferent. houses.

T|'163 show their results in this block SmPh' %’

Theg draw | tick [\/ ) for each house theﬁ see.

Tiles v v v v v v

Thatch N R O N O N O R A O Y Y O v
Wood v v v v v v v v

Iron v v v v v v v v v

How many of each kind of roof do theﬂ see?

Tiles Thatch Wood Iron
Which is the most Popu|or‘ kind of roof?
How many roofs do tl‘\eﬂ count, a|togetl‘1er‘?

Hat, sizes

The IDOHS at Juma SCl‘\OOl wear SChOOl CGPS.

The caps come in sizes 2, 3 and L.

. Checkl
Count hOW man |edr‘ner‘s wear eGCh Slze Of\ CGP. Compare!

2 3 L

Which is the most, common size?

112 18 14 (5 16 17 18 [9 20 o

Correct,!
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¥ ., ol /
W@ﬁkng in centimetres

-

\Ef 'J ) How |on3 is the coloured line?
-2

First estimate and then measure the lines.
ComP|ete the table.

Difference between
Line Estimation | Measurement, | estimation and

T

measurement,

I 2 38 4 B 6 /7 8 9 10

'H\HHH‘\HHHH‘HHH\H‘HHHH\‘HHHH\‘HHHH\‘\HHHH‘\HHHH‘\HHHH‘

68

_ ‘ ENG MATHS'G3'B2'9781431501472/indb""68



r ¥
2
4 o

S LTSS S N
A%# g, il == ‘.'- & l:t

=i

k-

‘.-" —

(_ 3

Use a ruler to draw the fo"owmg lines.

a. IO cm

b. 7 cm

u SCIH if you will measure the fo"owing in metres or centimetres.
a. The |engt|1 of a book

b. The height of a door
c. The |ength of a Penci|

d. Your height.
e. The |en3th of your ﬂnger

Dur‘ing the Year you used Yyour ten co|our‘ing Penci|s. The

|ength of your Penci|s was |9 cm before You used them.

After You used it your red Penci| is 1 cm, blue 5 cm, green b cm,

3e||ow ” cm, PUPPle |2 cm, or‘onge q cm, br‘own I[.. cm, blGCk 8 cm,

Pink |3 cm and white 15 cm.
shortest to the |on9est

uilhl ===

(J
N
A
a. Which pencil did you use the most?

b. Which Pencﬂ did You use the least?
c. Write the |ength of your Pencﬂs from the

E— G MATHS G3B29781431501472!indb 69 2014/06/20 7:55AM‘




‘U" Number's 7@0 to 300

ount and write.
7 a. Use the fo"owing chart to help You count, from

h

700 —800. SGH the numbers out aloud as

You count.

700

10l

104

710

718

122

136

1L

1.9

158

e

188

790

192

795

800

b. Write the missing numbers in the gr‘icl above.
c. Write the IO numbers that come after 750.

800

150;

d. Write the next 8 numbers in the 2s Pqt,tern.

162; 76L.; 766;

e. Write all the numbers in 2s Pdttern from 181 to T13.

75l

- T13

f. Write the next 8 numbers in the Ss Pattern.

151; 7156; 76;

10

[I

2

3

4

5

6

7

9

10
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How many blocks do You countr)

How did You count the blocks?

~

= @g =/
357
~ \_ J
ComP|ete the number lines.
I I I I I I I I
750 753 157 759
I I I I I I I I I I
789 188 1817
I I I I I I I I I I
153 156 759
Com |et,e Write from smallest, Write from biggest
P 99
t,l-\e ta|o|e. to biggest.. to smallest.

116,712,719, 710,718

136,703,730, 713, 703

Write the fo”owing in words.

188

Il

12

13

4

15

16

7

'8

1€ 20
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More numbers 700 to 800

300 The teacher asked Peter This is what, Ben showed.
jo0 |20 2 5 to show 759 with his What did he do wr‘ong’?
( Loo 5009 ° cards and blocks.
700809
=T 20| 30150
5 0 b O 70 80
q0
112314
s|o]7]8ld
Peter had the Fo”owing
P|cce value cards and base
ten blocks.

R\I\/r‘ite a number sentence and then the answer.

7100 + 60 +7 =|| 761

- | 2 8 & »5 6 /7 © 9 |0
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& "
‘;-‘337’ ComP ete the number line.

I I
789| |790( |74l

Write all the numbers smaller than 7995.

Write all the numbers bigger‘ than 7995.

b. 7.5 150
161

c. I00+90 +7

Br‘eqk UP HOUT‘ number‘.

a. Build each number with your cards.

b. Write the value for each digit. Now do these: Break up your number.

s R
790 Example: 799 700
689 90
699 q
155
79 9
690
799| 700 + 90 + 9
\. )
% Write the number names.
668
157
799
1.2
64l

112 18 14 (5 16 17 18 [9 20
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‘U" Number‘s 800 10900

ount, and write.

a. Use the fo"owing chart to he|P You count 9400
from 800 —900. SGH the numbers out 300

aloud as You count.

80| 80L 810
8I8

822

836
8L 8.9
858

813

888 890
892 895 900

b. Write the missing numbers in the grid above.
c. Write the IO numbers that, come after 80O.

800;
d. Write the next 8 numbers in the 2s pattern.

852; 85L.; 856; ; ,

e. Write all the numbers in the 2s Pattern from 807 to 829.

807, ; : : : : : ; : : ; 829
f. Write the next 8 numbers in the Ss pattern.

83L.;839; 8L L,

- | 2 3 4 B 6 7 © 9 [0
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How did You count, the blocks?
4 )

Com|o|ete the number lines.

[ I I I I I I I I I ]
830 833 837| (838
I I I I I I I I I I 1
8176 88l | |886
I I I I I I I I I I ]
8L3| |(8Lb| |8LY
Com |et,e Write from smallest Write from bigsest.
t,l-\e ta|o|e. to biggest.. to smallest.
856,853,855, 85|, 857
898, 801, 810, 819, 89l

White the fo"owing in words.

8L5
112 18 14 (5 16 17 18 [9 20 .
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More numbers 8O0 to 900

300 The teacher asked Peter This is what, Ben showed.
100 |29 ¢ to show 85/, with his cards What did he do wr‘ong’?
Toojooolecs and blocks.

7001800 A

‘o 20 30 LO

5 0 b O 70 80

q0
BRI kAR
s|o]7]8ld
Peter had the Fo”owing
P|cce value cards and base
ten blocks.

R\I\/r‘ite a number sentence and then the answer.

800 +80 +5 =885




& "
("537 Com|o ete the number line.

I ]
889 |890]| | 84I 900
White all the numbers smaller than 89L.

Write all the numbers bigger‘ than 89L.

ﬂﬁ"ln< = or =

899 898 b. 802 820
c. 900 +70 + 5 185

Br‘edk UP HOUP number‘.

a. Build each number with your cards.

b. Write the value for each digit. Now do these: Break up your number.

e )
890 Eample: 876 07075
889
1 O
802
b
855 P
8L0
816800 + 710 + b
\_ J
&, Write the number names.
889
825
803
830
899

112 18 14 (5 16 17 18 [9 20
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< el‘mg thngs

ook at the fo”owing Pictures and answer the questions.

a. Isthel kg washing Powder‘, |i3hter or heavier than the 2 kg washing Powcler‘?

b. What is |i9hter*: The 500 g breakfast, cereal or the 200 g of biscuits?

c. What is heavier: The |00 g skin care cream or the | k9 Packet of samp?

o How much do we weigh all together‘?
Y I weigh 25 kg, my friend 29 kg and my brother .5 kg.

How much do the Pr‘oclucts weigh together‘?

The first Procluct weighs | kg 500 9 the second Product 3 kg 500 g
and the last Product. 2 |(9 500 g.

- | 2 38 4 B 6 7 © 9 [0
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. L
P i". ¢ 7, Look at the pictures and answer the questions.

25 kg is the same as
2kgand 500 g

1,5 kg is the same
as | kg and 500 g-

How can I write 3,5 kg as

ki|09rams and grqms?

ComP|ete the table.
Your teacher will give You five ol:‘Jject,s to look at. Estimate their weight

and then measure it.

Diff. bet
Ol?_ject E stimation Measurement, ! .ere.nce erween
estimation and measurement,

How much do the Pr‘oducts weigh together‘?
The first Procluct weighs 2 kg 500 9 the second Product
| kg 500 g and the last Pr‘oduct 3 |(9 500 g.

1z 18 1« 16 16 17 18 19 20
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A eigh
el's weigh some more
Mass is the measure of how much stuff or matter there is in an ol?ject..

The more there is, the harder it is to move it.

Weight is a measure of the force of gr‘avit,ﬂ Pu"ing on that matter.

Gr‘ovitﬁ is less on the moon so things wei9|'1 less there.

On eor‘tl‘\ 'FOP ever‘HdoH PUPPOSGS we use the same measures 'FOT‘

both mass and weight. We measure mass in |(i|09r‘c|ms and grams.

Different scales

We use different, kinds of scales to measure mass and weight.

oy

We measure mass with a balance and - i

weight with a sPr‘inS scale. ( ﬁl".

This fish has a
A litre of water has a mass of | kg. ’“ :*l @ weight, of 7 kg-

Find their weight

Write the weight in kg shown on each of these
spr‘ing scales.

coem~NoCa~®ON
SoemNCca~®ON

o | 2 8 & B 6 /7 © 9 [0
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S

We use grams to measure the mass of

smaller or |i9ht.er olczjects and to

measure fractions of a |(i|09r‘am.
| 000 g = kg

On this sPr‘inS sca|e, each small line is

IO grams of weight. The tomatoes

weigl'\ 320 grams.

How much do thelj weigh’?
: Draw where the arrow on the scale must, go each time.
=

queqkﬂogr‘am.
Add on to make I kg (I 000 g
a.125 g+ 250 g + 125 + g=1000 g(Ikg)
b.50 g+ 309+ 2409+ 6049+ 10049+ = lkg
¢.51g+ Lbg+2L3q+33Lg= =1 000 g (I kg

d.50g+90q+160 g+ =1 000 g (Ikg)
112 18 14 [ 16 [7 (8 19 20
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N ber‘s q@O to | OO0

ount and write.

a. Use the fo"owing chart to |'\e|P You count,

from 900 — | OOO. SGH the numbers out
aloud as You count. 900
90l 903 q10
a9
943 9L8
Q8|
qql 999

b. Write the missing numbers in the 9r‘id above.
c. Write the IO numbers that come after 9O0.

900;

d. Write the next 8 numbers in the 2s patterns.

9L6; 9438; 950; ; :

e. Write all the numbers in the 2s Pqttem from cll,5 to 961/.

9L5; ; ; ; ; ; ; ; ; : ;9617
f. Write the next 8 numbers in the Ss pattern.

936; 9LI; 9L6;
. | 2 3 &4 b 6 7 8 9 10

‘ ENG MATHS'G3'B2'9781431501472!inclb" 82 ARG T L



How did You count, the blocks?
a )

@

[ I I I I I I I I I 1
950 953 957| |958
[ I I I I I I I I I 1
956 |96l | |966
[ I I I I I I I I I 1
903| |906| (909

Com|o|ete the number lines.

Com |ete Write from smallest Write from biggest
P 99
the tdble. to biggest. to smallest.
936, 933,935,93I, 937
978,907 970,917, 97

Write the fo”owing in words.

695
112 18 14 (5 16 17 18 [9 20 83
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Mar‘e numbers 900 to | OO0

1000 T The teacher asked Andile This is what Guc?u showed.
jo0 |20 2 5 to show 932 with his What did she do wr‘ong?
Lo0}500 ° B cards and blocks.

| o 2 0 3 0 L (0]

5 0 b O 70 80

q0

112314

s|o]7]8ld

Andile had the fo”owing

P|oce value cards and base
ten blocks.

R\I\/r‘ite a number sentence and then the answer.

&
98
&

900 + 80 + L= |98L

84

‘ ENG MATH



| Com|o ete the number line.

S
S

]
989| (990 99| 999
Write all the numbers smaller than 995.

Write all the numbers bigger‘ than 995.

u Fillin < > or <.

a. 999 7998 b. 957 975
c. 900 + 60 + | 96l

Br‘eak UP ':JOUF‘ number‘.

a. Build each number with your cards.

b. Write the value for each digit. Now do these: Break up your number.

q22 (Examp|e: 98L. 900 )
959 30
980 L
107 98 L
q3
984 | 900 + 80 + L
\& L
&, Whrite the number names.
976
905
950
82
909

112 18 14 (5 16 17 18 [9 20
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A@jdltlon and subtraction to qqq

% Write a number sentence for each.
.

m Use the examP|e to gulcle You.

5 O | double 50is 100 300

Exp|ain how You counted the blocks.

Explain how You counted the blocks.

2001|200 3 3

Use near doubles to solve the fo"owmg

Use the exam|o|e to gwcle You.

a L3+ Ll = double 4.3 + | L3+ L3 +1=87
b. 8l + Ll =

c. O+ L]=
d. 66 + 6] =

- | 2z 38 4 ©5 6 /7 © 9 10
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Use doubles or near doubles
to solve the fo”owing.
Use the examP|e to 8uide You.

b

a. Double 340 b. 3,0 + 3Ll
=3L0 + 3.0 = Double 3,0 + |
= Double 34,0 =300 + 300 + LO + LO +1
=300 + 300 + LO + LO =600 + 80 +1
=600 + 80 = 68|
= 680
c. L70 + 10 d. Lol + 62

Solve the fo"owing:

The Grade 2s have a collection of 360 marbles.
The Grade 3s have 2|6 fewer marbles than the Grade 2s.
How many marbles do the Grade 3s have?

1z 18 1« 16 16 17 18 19 20
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About the house
quing dq&
Aunt, Phindi bakes bread in her oven.
Show the time on these watches.

She Puts the bread in at a cluqrter' Post. L.

She takes the bread out, at. five Post five.

How |ong does the bread take to bake?

Ann's mother uses a microwave oven. It is much qulcker

Tt is now 16:30. Look at the cooklng time set on the microwave oven d|o|
When will the bread be r‘eodﬂ.

How much quicker is the microwave oven than the other oven?
minutes.

m. Mor‘nlng Jo|os gm

On SGtUI"dGH mor‘nmg MUSG c:nd Pa|esc1 he|

their mother in the house. How |on3 does eqch

task take? (@

Start End How |ong?
Make breakfast 6:15 6:L0
Wash dishes 1:20 8:05
Clean the kitchen 8:20 915
Clean the bathroom 10:00 10:25
Clean the bedrooms 1:30 12:15

- | 2z 38 &4 B 6 7 © 9 [0
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) %ﬁ » Water the Sar‘den.

A hosePiPe can use up to 30 litres of water in | minute! ?

How many litres of water can a hosePiPe use in:

2 minutes litres.
2 % minutes litres
S minutes litres
|O minutes litres.

u Cooking curry.

BGbUIS 'FGthGI" mqkes anc| se"s CUF‘I"H. In one week, he uses 750 m| O'F OI|

He writes down how much oil he uses each daﬁ.

Mon Tues Wed Thurs Frida Sat, Sun
= N - | = | == ..1 = - -
%Bnﬂ) Ezzmls 6[15!115 éﬁnﬂ) igunniH Easnﬁ {? 3

a. How many millilitres [m” of oil does he use from Mondaﬂ to Sotur‘claﬁ?
ml ot

b. How many millilitres [mn of oil does he use on Sundqﬂ?
c. One 750 millilitres [m” bottle of oil costs RIS 50. Check!

Ompare.'

Correc
How much do £ bottles cost? tl

1z 18 1« 16 16 17 18 19 20 -
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ngthi and her 3 children goon the train.
Adults and children pay the same.
ngthi pays with these notes.

. BE

- — Checkl
She gets R30 chqnge. Comparel

Correct!
What, is the Price of | ticket? Tick (\/ ) the correct, answer:

a.RI0 b. R32 c. R8O d. RL550
o | 2 8 &4 5 6 7 8 9 I0

- ‘ ENG MATHS'G3'B2'9781431501472!indb" 90 2014/06/20" 7:56



- ——_
~ '
. "' "‘. ” -"ﬁ;-.l ‘\ . ;
. :’1‘-! - "f‘ Nualy' S S
: al ; ..: p .

3 a { e S SP Oop.
v 3 * Sandile keePs a record of his eqrnings in a table.
First he estimates his dai|3 income and then he calculates his c|ci|3

income excct|3. Income is the money we earn or receive. He|P Sandile to
comp|ete his calculations in the table below. Write Your answers in the table:

Estimate | Total

Monday [R50 + R75 4+ R200 + R350 + R25
Tuesday  |R25 + RI75 + R50 + R320 + RO
Wednesday [R50 + R75 + R200 + R350 + R25
Thursday |RI20 + R55 + RISO + R2L5 + R25
Friday  |R6O + RI50 + RILO + R200 + RI25

Saturday [R50 + R75 + R200 + R350 + R25
Sunddﬂ

Work out the chonge.
To work out your chcnge You can add on from what the things cost,

to how much money in notes You hand over.

Example: +50c +R2 +RIO +RIOO

Palesa bwds food for R8750 l l ' '

She pays with aR200 note. R8750 R88 RA0O  RIOO R200

What is her chanse? 50c + R2 + RIO + RIOO = R”2,5O
chonge

Use number lines to he|P You work out, the change.

Cost: R229,L,O _ =~
P03 with: ﬁ—

Cost: R30560

PCIH with: ﬂhhj

112 18 14 (5 16 17 18 [9 20
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subtraction to 999

|et us solve the |oro|o|em.

Gugu collected 23/ stickers. What is the question?

i ?
Manc“q SGVG her‘ 5OI T stickers. HOW manﬂ stlcker‘s CJOGS she |"\GV€ NOW ¢/

How many stickers does she have now? What. is the k63 N m—

s fs wiben e kil What are the numbers? 23/ and 50I

solve GUSUS Prob|em. Let us show this with our base ten blocks.

How is Lisa's P|ccing of her base ten blocks similar to Aakar’s drcwing.

Use the number in the Pro|o|em to solve it below using two methods You have learnt, so far.

Method | Method 2

o | 2 38 4 b 6 /7 © 9 10
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§ Sl ing jobs.

Thembi collects items for the schools r‘ecHChng Pr‘gjects. She collected
b2/, P|qstic bottles and 268 tin cans. How many items has she collected?

What is the question?
What are the numbers? What is the ke3 word? Tick the correct,

answer. Tl’\e keﬂ WOPd te"s us to:

Add B Subtract

Make a dr‘dwing. Use ?our‘ own method to solve the

Pr‘Ob em.

The shoP had 900 Packets of sugar. After se||ing some Pcckets, theg had 659
Packets of sugar left. How many Packets did thea sell?

What, is the question?

What are the numbers? What. is the ketj word? Tick the

correct answer. The keH word tells

us to:

Add - Subtract

Make a drowing. Use your own method to solve the

ProHem.

112 18 14 (5 16 17 18 [9 20
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Comp|ete the Fo"owing:

nd subtractlon to 999 agaln

|_oo|( at the dlagr‘ams and describe it.

CORTATE (100) (100
(100) (100 eo

a. 223 +223= e. I7T+17=
b. 160 + 160 = f. 450 + L50O =
c. I5+15= g 112+ =221,
d 315+3I5= h. 116+ =232
Write the numbers m‘
a. 12 more than 523 is e. 037 less 29is -
b. 15 less than 540 is f. Hadlf of 300 is
c. 20 more than 576is g Double 420 is
d. 60 less than 890 is h. Hadlf of 600 is

200
150
Add 125 125
250
400

325

| 2 8 &4 B 6 7 8
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S X

A,

makes a | OOQO"

- [200 + 150 +50 + =000 [ |25 + +900 = 1000
b. 11000 =560 + +400 |f +700 + 50 = 1000
c 670 + — 1000 g (1000 = 420 + + 500
d 1910 + 4O + = 1000 h. + 30 + 900 = 1000

Find the + and — number families
ExamP|e: 125 + 600 =725 725-125 =600 725-600 = 125

23+77= | . |-77=123 L l-123=77
650 +[ =800 |800-650=[ | |[ |+ 650 =800

1000-250 =1 [1000-|_|=250250+ | |=1000] cor,
56+ =300 |300-] J=56 | J+s6=[ | | Corest
820 +| |=1000|1000-| |=820[1000-820 =/ |

Add and take away tens and hundreds
a. Tens and hunclr*ecls

=

Ny

18 +10 = 149 + 10 = 456 +100 = (987 + 10 =
636 + 100 = [80I+ 100 = |727+100 = |6I12+10 =
456-10 = 749-100 = [829-100 = |987-10 =
875+ 10 = 709-100= |[8I5+10 = 903 -100 =
b. Whole tens (Mu|tip|es of |O)

150 -30 = 190 - 60 = 175 - 50 = 990 -80 =

20+90= |335+60= |660+50= |8I2+60 =
206-50= |320-30= |/85-60= |999-90 =
o6l +371= |6]1+90 = 832 +80 =[928 +80 =

Solve the fo”owing:
925 +53=] | 571+202=| |78 +75=] ]903+95=] |

112 18 14 (5 16 17 18 [9 20
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Measurement Puzz|es

Find the area
How many squares this size . do You need to comP|ete|3 cover each

ﬁgure? Use your own way to work it out. You can draw squares on the

Pictures to |ne|P You work it out.
b.

m Solve the riddle

You want to measure out, exoct|5 L, litres of water.

You have on|3 two containers: one holds 3 litres
and the other 5 litres. How do You do it?

Clue: there are at least, two Possib|e ways.

- | 2 3 4 B 6 7 8 9 0
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Thr‘ee blocks are 9|ued together as in this Plct,ure

If You Pick up theJoinecl together' blocks how many

squares do You count on the outside?

u Count, the cubes

HOW mGnH cubes moke UP thlS shope?

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

Cha"enge; a time riddle :
C”)eckl
Clues ComPQPel

Correctl

You have two sand timers.

One measures exact|3 ] minutes and the other measures excct|3
Il minutes.

How can You use the timers to find out when exqct|3 |5 minutes has Passecl?

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

iz 18 4 15 16 17 & 9 2@
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NE&mber Pat.t.erns: tens up to 900
|et us count. in tens from 810 to 900.

80! |802 (803) 80L | 805 |806 [ 807) 808|809
8ll | 812 (813) 8IL |85 | 816 { 87 8I8 | 819
82l | 822 (823) 824 | 825 |826 | 827 )| 828 | 829
/ >
83! | 832 (833)| 83L | 835 | 836 | 837)| 838 | 839
8LI 842 (8L3)|8LL | 8L5 | 8Lb | 8L7) 8L8 | 8.9
85l | 852 (853)| 851, 855 | 856 | 857) 858 | 859
86l | 862 (863) 86L | 865 | 8bb | 867|868 | 869
87l | 872 (873) 81L. | 875 | 876 {877 878 | 874
7 >
88l | 882 (883)| 88L | 885 | 886 | 887) 888 | 8849
8ql | 892 (893)| 89L | 895 | 896 | 897)| 898 | 899

3 What Pqtterns do the circled numbers show us?

-Cir‘c|ed in red: Counting in Write down the Pqttern:
Circled in green: Count,ing in Write down the Pattern:
m Caleulate.

a.81L+10+10 + 10 = b.858-10—-10-10-10=
c.8L5+10+10 = d.858-10—-10-10 =

e. 836+ 10 = £ 86b-10-10 =

9-892 +10 +10 + 10 = h.87-10-10-10 =

i. 880 + 10+ 10 = j-855-10 =

- | 2 38 4 B 6 /7 © 9 10
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There are ten sticks ] 1

= sticks
= sticks
= sticks
= sticks
= sticks
sticks
= sticks
= sticks
= sticks
= sticks

M Rows of  sticks.

0 00 4 O O~ NN

O

- Ao - - A - A A - A
Il

3 5 How mqnﬂ sticks?

J|”| in a bundle ﬂ

(0]

20
30
O
50
60
70
80
90
[0]0)

o - A A A A A A A A

KECRRRRRR

There are ten bundles of sticks in a row = OO sticks

| row of 1O bundles = 100 sticks
2 rows of 10 bundles =

L rows of 10 bundles =

|O rows of 10 bundles =

HOW mCInH bunc"es?
7100 sticks make

900 sticks make
| OOO sticks make

iz s 14

sticks

sticks

sticks

bund
bund
bund

15

|es.
|es.

|es.

16

7

IO X 10 =
20 X 10 =
LO X 10 =
|00 X |0 =

'8

sticks
sticks
sticks
sticks
sticks
sticks
sticks
sticks
sticks
sticks

|00

1€ 20

2014/06/20 7:56 AM ‘
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@u off to the nearest |0 ,

We did some r‘ounclins offina Previous worksheet.. Look at, this number line and
exp|cin to your friend how You will round of f to the nearest ten.

ollill2013ll.lI5ll6ll7l]l8!l]alliO Ceememberﬂoushouu |oo|j

at the units when rounding
of f to the nearest IO.

e

£
3 Round of f to the nearest, |O.

lIZ. rounded of f is? [I'7 rounded of f is?
IIE) IIII III2 I|!3 ||IL I|I5 ||23 III7 ||I8 Illq I2IO
|59 rounded of f is? 15| rounded of f is?

I
50| | 15l 152 | | 153 | |I154 | |IB5| [I156| |15 | |I158| [189| (160

' Round of f to the nearest |O.

Draw Your own number line.

>

v | 2 38 4 5 6 7 8 9 [0
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% 1® Before you round of :

a. write down between which two tens the number to be rounded of f is.

b. show with an arrow more or less where this number to be rounded of f will
be on the number line.

e. 999

— -
[ ] [ ]
u Round the fo”owing numbers of f to the nearest |O.

a. |6l b. 583 c. 15 d. 8.8 e.0I2

f. 230 g.321 h.989 i. 3L, j 1.8
a How many RIO notes do I need?

Mbali and her 8 friends are going to the school’s fun dcﬂ. The fun dqﬂ costs RL
per person. Mbali saved money and of fered to Py for her friends. She went to
the ATM to withdraw money The ATM on|3 gives notes. How many RIO notes

does she need?

1z 18 1« 16 16 17 18 19 20
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Mu|t.|P||cat,|on and division:

. fives up to |00
ComP|ete the flow diqgr‘qm.

input output. inPut, outPut

5 |8 — b
N\
] 8
T N
m‘Comfﬂe’ce the table below:
I 2 3 L 5

5

p Calculate:
12 x5 Il x5

=(0+2)x5
=50 +10
=60

I3 x5 I3 x5

N\

o} 1 8 q 1O

=(l0+3)x5
=50 +15

=80+10+5
=65

A | 2 38 & B 6 7 © 9 [0

Foccccocodbeo boecoeoec boeecroooc becoocorocboccccooocboccocoooc boccoooa Lo |
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=(LO+5)+5
=(L5+5)+(5+5)
=8+

=9

L8+5 I3 +5

=(LO0+8)+5
=(LO+5)+(8+5)
=8+ |rem3

=9 rem 3

u Solve the fo"owing |oro|o|ems:

A ve9etab|e gorden has |£,. rows of P|c1nts.

EverH row has the same number of P|c:nts.

If there is a total of 70 P|cmts, how many |

P|c1nts are there in each row?

David sells bogs of oranges. He Puts five oranges in each bag.

He hGS 85 or‘anges.

HOW manﬂ bags can he ﬂ"t)
1z 18 1« 16 16 17 18 19 20
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pelltterns: fives up to | OO
Let, us count, in fives from 805 to 900.

¥ 4

| eccccceccccccccccccccccccccsccccccccces o

'L

80l | 802

80L [805 (806|807

809

8ll | 812

8l5 | 8l6 | 8l7

8L

89

82| | 822

82/ | 825|826 | 82]

829

83l | 832

83/ | 835|836 | 837

839

8Ll | 842

8L.L | 8L5 | 8L6 | 8LT

8.9

85l | 852

85L | 855 | 856 | 857

859

86l | 862

86L | 865|866 | 867

869

811 | 812

81L | 815|816 | 871

879

88l | 882

88l | 885 | 886 | 887

889

84l | 892

894 | 895 | 896 | 897

899

- B Sl'\OW US?

What, Patterns do the circled and shaded numbers

Circled in blue:

Counting in

Write down the Pottern:

Circled in PurP|e:

Counting in

Write down the Pottern:

104

‘ Eng NUM G8'B2413-128FWiS

' e
" Caleulate.

e

0 85+5+5+5=

b. 850-5-5-5=

c 85+5+5=

d 830-5-5-5=

e. 886+ 5=

f. 8L6—5-5=

g 802+5+5+5=

h. 801-5=

i 863-5-5-5=

I 2 3

45 BE

9

10

Dlindd" 104
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Number board 901 to | OO0

90I 903|90L | 905 [ 906

qll 3 | 914 | 915 | 916

Q2 923|924 | 925 | 926 928 | 929
93 933 [ 934 [ 935 | 936 938 | 939
9L 943 |9LL | 94D | 9L6 948 | 949
95| 953 | 954 | 955 | 956 958 | 959
q6l 963 [ 96L | 965 | 966 968 | 969
ql 973 | 91L [ 9715 | 976 978 | 979
98l 983 [ 98L | 985 | 986 988 | 989
9| 993 | 994 | 995 | 996 998 | 999

Fill in the missing numbers.

What is the difference between the green and Purp|e numbers in the
same row?

u Com|o|ete the Pqtterns.

Describe it..

Do you notice the Pctter'n?

963,968,973,978,983,
9,L,9.9,95L, 959,964,
- 921,926,931,936, 9L,

i 956,951,9L6,9L1,936,
982,987,992.997.
927,922, 417,912,907,

112 18 14 (5 16 17 18 [9 20
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